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The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

All questions are compulsory

All questions of Section-A and all questions of Section-B are to be attempted separately.
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Fach question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

Question numbers 34 to 36 in Section-B are questions based on practical skills. Each
question is of two marks.
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HIT-31 / SECTION-A
YIS IR T SArpfa fra wehR uiafia e €2
How do plant cells change their shape ?
forera, Serf SR ey ari § § f59 aR § ON/OFF far= &1 @wmn <iman 8 2
Out of the three wires live, neutral or earth, which one goes through ON/OFF switch?
- o1t & T B TEeye F gHAE |
Explain the term “Hot Spots” in the context of geothermal energy production.
P3N Q FUY: Wfead FAEs I Gifean sEelarEe & faoed 1 & faead § § 31
Gy e forenw =i e st
(i) O foeHs o1 Fen HEM? A T B g wifew )
P and Q are aqueous solutions of sodium chloride and sodium hydroxide respectively. Which
of these will turn
(i) Blue litmus to red or
(ii) Red litmus to blue ? Justify your answer.
()  oE Fedar $iR (i) T 91 i A it |
Explain the terms :
(i) Malleability and (it) Ductility.
qifsrel HIoT T e w3 % T & it wuwan fre TR e 27
How is the small intestine designed to absorb digested food ?
I grer F Froto § swEm feg 99 ool S gerel i gel IR 39 9T % 9 e SuEn
faf@m |
List the raw materials used in the manufacture of baking soda. Write two important uses of
this compound.

(a) Y- WRETR H SuEn € St < aavi & AW fafen = @@l gl % e 8
G W W BN arelt sAtafsrared o aHie fafen |

(b) = 2 Y&l Y G FARY S GBI AR HY Hied! bl B Tehe & faerad F iR TH W
femm 20 §1 89 Al wamEf afufwan %1 g fafa )

(a) Name two salts that are used in black and white photography. Give equations for the
reactions that occur when they are exposed to sun light.
(b) List two observations that are noticed where an iron nail is put inside the copper sulphate

solution ? Write chemical equation for the that occurs.

2 uiga % A fafed st grea § denfa 7 @t €1 e g g & gHee § O e
@ |

(i) FD WIgeA F1 el 91 eves

(i) el 1 Henfi S Uk TR wHE €

Name two metals which do not corrode easily. Give an example in each of the following case to

support that :
(i) Corrosion of some metals is an advantage
(ii) Corrosion of a metal is a serious problem.

FIR F A TR H1 qEEr G dfed avi s | 3 ford w Amifed o ot
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wifed |

Describe electrolytic refining of copper with chemical equations. Draw a well labelled diagram for it.
=1 =1 witerd foren' ol afess 1 ‘ stifesss fran' § wrfida wifaC

(i) %ad Rl ¥gahAl|

(i) T oG F TAFE T W B I THH &A1

(i) ~ YAe I TIES H1 YW HI draal o GiT SR FROT SEeA1

(iv)  HTfhe WG

(v) Sl

(vi) Frdlt TTel 9% W 9fa T W Rl UEHEH B

Classify the following into ‘Reflex actions’ ande:g Voluntargaactlorls of brain.
(i) Beating of heart. tovBleanten )

(ii) Withdrawing your hand immediately on touching a hot object.
(iii)  Change in size of pupil in response to intensity of light.
(iv)  Riding a bicycle

(v) Sneezing

(vi)  Pulling up the leg immediately when foot falls on some sharp object.

TreEd i uedi ol Sl § aed @ & T o e st S 1 A i ST € 2

Explain why there is a need for transportation system with special tissue or organs in plants
and animals ?

SegsiA st g fafaw ) g9 % 31 yqE v fofed |

Define excretion. Write two vital functions of kidney.

fereft forega sfoet o1 STAAIS 40 W, 220 V §1 AfE 220 V o7 § 7Aq atferehan foea am1 6 A € 4t
TH 5 % o AR 3 s fhad siosl IveshA | w4t R S Tehd § 2

An electrical bulb is rated 40 W, 220 V. How many bulbs can be connected in parallel with
each other across the two wires of 220 V line if the maximum allowable currentis 6 A ?

i & w0 aed 7 RS UNEE qRATer hY YR SRR hidl 87 SHE THE SuEn
foafaw |

What is meant by solenoid? How does a current carrying solenoid
behave? Give its main use.

T 39 giadry st gt fafag |

et BT % TE 1 37\ SfY F1 9% R &1 IfE 6 IR %I TR 50 cm 8, O 59 39 AR Al TH
UM €Y 9 fra TeE 9% @ie 9iet R 9r ofm gfqle 1 9) We 8 STe? ST 3T Sl g
I |

Define 1 ohm resistance.
A student has a resistance wire of 1 ohm. If the length of this wire is 50 cm, to what length he
should stretch it uniformly so as to obtain a wire of 4 () resistance? Justify your answer.

W S w10 T B 8, o8 fioelt H A 1 S9& Afss ¥, 99 % U M § qrdg for@ w998
wqTfYe 3 o1 foreR et sue e U8 3 ard foe S % T W R S aled s @ feg
TR & et Tenfa e @ e e
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() o I foEm H 89 1 g 3 £2 370 I & gfte Fif
(i) U & & 9 IGH wE-91 7 Fafa S g2
Rahim, a student of class X lives in Delhi. He had an idea in his mind of setting up a thermal
power plant in the nearby village. His friend Rohan suggested him to set up a solar cell panel
to harness solar energy instead of a thermal power plant.
Answer the following questions :
(i) Do you think that Rohan's suggestion was appropriate ? Justify your answer.
(ii) Mention the quality of Rohan portrayed in his act.
18 Tifventa forgea &1 aftamen fefad | fonedt Tfvrerta waw o foegm Soorea o wge = fafaw |
Define nuclear fission. Write the steps involved in generating electricity in a nuclear reactor.
19 @ = S T vt e @ d@afaa s
(i) NaOH + H,SO, — Na,SO, + H,O
(i) PbO+C—Pb+CO,
(iti)  Fe,Oy+ Al — Al,O4+Fe + M4
(b) = < e AfufRe 6 fou dgfea aamafe we fafa
(@)  afem FEe + I Rem aehe o A welhe + deRem TR
i) o+ faeer ee - N TRee + faeax
(a) Balance the following chemical equations :
(i) NaOH +H,50, — Na,SO, + H,0
(i) PbO+C—Pb+CO,
(iiiy ~ Fe,O5+ Al — Al,Oq + FetHeat
(b) Write the balanced chemical equations for the following
reactions :
(1) Barium chloride + Potassium sulphate — Barium sulphate + Potassium chloride
(i)  Zinc + Silver nitrate — Zinc nitrate + Silver
20 = weHl & foan R fafau .
(i) T S FoR@ 1 e A1 § S S S TEl e B
(i) Y& TEERH FaRse T A faeag & aa 78 st © Safe a7 TRseaiid 3T H
gl
(i) T % HIEW H, U guaTen SHRE: O gF H ST Hiet wt ot i A e 2
(iv) 3% %l TIFHd H 6 [ad, 370 h! 9 H S A6 & 7 6 5@ &l o7 7
(v) I T 6Re € Al 399 SRl 99¢ T8l 7 |
State reason for the following statements :
(1) Tap water conducts electricity whereas distilled water does not.
(i) Dry hydrogen chloride gas does not turn blue litmus red whereas dilute hydrochloric
acid does.
(iti) ~ During summer season, a milkman usually adds a very small amount of baking soda
to fresh milk.

(ivy  For dilution of an acid, acid is added into water and not water into acid.
(v) Ammonia is a base but does not contain a hydroxyl group.
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21 (a) 39 AR 1 AW fargy s vk 'R oed W ERR # fowife € S @1 39 s A 5
ferfiay S =8 SEM $ S F § a1 36 SR § vU W) W e fafae ) @l em
¥ g wnfaa aren Tl % W foafae iR uee @ yed fafa
(b) SR STl § THEfTS T AT TR |
(a) Name the hormone which is released into the blood when its sugar level rises. Name
the organ which produces this hormone and its effect on blood sugar level. Also

mention the digestive enzymes secreted by this organ with one function of each
(b) Explain the need of Chemical communication in multicellular organisms.

22 (@)  Sgd Wiy qen =Tere S Rl § faved i) 5
(b)  1.6x1078 Qm FRRIUEHA Hl TH HIR TR HI I FIE H &R 10x10"4cm2 §1 20
Q F et M F AU 30 TR F 2TavaE e H qehe Sty |

(a) Distinguish between the terms electrical resistance and resistivity of a conductor.
(b) A copper wire of resistivity 1.6 X 1078 ohm meter has a cross section area of 10x1074
cm2. Calculate the length of the wire required to make a 20 ohm coil.
23 e 99 § 1 A §2 g & B feem fRd e wiaw R sgee Ry ST A 9@ 5
F fawn Frefifa F03 a1 P 1 M fafee iR sget saren Fife | 39 R Fefafed Tied
1 1 I B
() TRk H yenfed HR o ST i & AT R
(i)  efed R T fom Al Sehfid FEATI
(i) g & 1 S 1 SohiHd HET

What is meant by magnetic force ? Name and explain the rule to determine the direction of
force experienced by a current carrying conductor in a magnetic field. How does this force
gets affected on :

(i) doubling the magnitude of current.

(ii) reversing the direction of current flow.

(iii)  reversing the direction of magnetic field.

24 forelt whiees % Rl 3 < favaia v & fafvm el o o Se8 yenfed fomqm wrasdi [ 0 99 5
& feg e R
I@fmE | 05[] 10| 20| 3.0

V@A) | 15| 30| 62| 93
() VI = A S
(i) 39 vfatye @ wiady aiefed Hifs |
(i) T T FErRIA HA €2
The values of current (I) flowing in a given resistor for the corresponding values of potential
difference (V) across the resistor are given as :

I(ampere) | 05| 1.0 20| 30

V(volts)| 15| 30| 62| 93

(i) Plot a graph between V and |

(ii) Calculate the resistance of that resistor
(iii) ~ What does the graph represent?
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YFT-&/ SECTION - B
25 feret B X 7 wwEAferd A, B, CH YF | 5 ml g #1 W e SEH AT 5mITMBH 20 ml 1
st e | 39 i wEAfeEl % 89 @1 pH A 9 fRA11 8 Heor Sl R g4 1 pH 9 -
(@) A, B3RCH THIHHE Bl
(b) AT B3R CH e AF B
()  B¥ AR CH e it 71
(d CH A 3R Bl a1 aAfts T

A student took 5 ml of lemon juice in each of test tubes A, B and C. She added 5 ml of water
in A and 20 ml of water in B. She tested for pH value in all the three tubes. She would find
that pH value of liquid :
(a) in A, Band C is same
(b) in A is more than thatin Band C
() in B is more than thatin A and C
(d) in C is more than thatin A and B
26  WR T A, B, C 3R D pH TR I HAW: ookl &, el @1, Toehl AR SR e Aien o €1 1

37 pH HH 1 9gd1 ¥ BT -
(a) A<B<C<D (b) A<D<C<B
(f C<B<A<D (d B<C<A<D

Four samples A, B, C and D turns pH paper to light green, dark red, light orange and dark
blue respectively. The correct sequence of increasing order of the pH value for samples is :
(a) A<B<C<D (b) A<D<C<B
() C<B<A<D (d) B<C<A<D

27 % B 1 @] HCl iR S & wfoemed w1 sifufsran #1 o) fomiifea emgem & o 1 stee 1
foram 1 &t Qo nm R TR -
()  CEF IR TuEE 71 (b) I ¥ ETH T
(€ T H sTeereie 71 ()  Suifafaa gt o
A student performed reaction between dil. HCl and zinc granules and noted the properties of
evolved hydrogen. Correct observations would be that hydrogen is :

(a) colourless and odourless (b) lighter than air
() almost insoluble in water ~ (d) all the above properties
28 Ife M+ BX — MX + B 3 B 0% oet 0 Wa & €9 H fTaE <a1 &1 @t M R BX 81 9 € 1

(a) AR IR UgfHtre gehe

(b) A R % Tehe

)  UgfHfEd HR H aehe

@) 5% iR tgfafmw aehe

IfM + BX — MX + Band B is seen as reddish brown deposit, then M and BX respectively are

(a) Iron and aluminium sulphate

(b) Iron and zinc sulphate

(c) aluminimum and copper sulphate
(d) Zinc and Iron aluminimum sulphate
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29 AL(SO); F faem T dr g 2 1
(@ = (by  diem
(c)  iem (d A
The colour of Aly(SO4); solution is :
(a) green (b) yellow
(c) blue (d) colourless
30 form aRtwe § Sl & weem o wEl T 1
= =l -
(D)
() A (b) B (C) C (d D

The correct representation of the series of combination of cells in a circuit is :
e

(a) A b) B () C (d) D
31 T B 7 U TR 30 % Ry & 3V &t Sl F Wiy Sied W yEred 9’ 1A off 1 SE 60 F 1
iy &1 30 F Fy & 91 gavR ¥ e femr S fw fam § fommn w3 #« e =

IS B ;
30 AL
— A
A 6
+
+ HH o HH —
3V 3V
@  9A b)) 15A (¢) 1A d)  6A

A student found that when a resistance of 3() was joined with 3V battery as per fig shown
below, the current flowing through it was 1A. He then joined another resistance of 6{) in
parallel with 3() resistance. The reading in the ammeter will now be :

30 e
I 6Q
+
A H = HO—
3V 3V
@  9A (b) 15A (0 1A d) 6A

32 " ehTeT WYYl % ToTU WehTel K1 BT SIS © ' 39 WAM & YU HA & 98 IR S A 1 e 1
frerret | 3o | W freed &b v
(a) Ui 1 haet figq | ot g1 YT YehIel HTeivol 3l
(b) It % o1 @ 9 WTE A1 HYATO 7E H A |
()  WeRIYI HYSIYOT hael WX YT H & 2 Tha1 ¢ |
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(d) & i F = ¥ gyerw % AT YHRT S SEE 2 |

On completion of the experiment to demonstrate that “light is necessary for photosynthesis”,
four students reported the inference as follows. Identify the correct inference.

(a)  Part of the leaf covered with strip can only undergo photosynthesis

(b)  Uncovered parts of the leaf cannot synthesize starch

(c) Photosynthesis takes place only in the presence of sunlight

(d)  Lightis necessary for synthesis of starch in green plants

33

‘YT % S CO, SefSld B &7, 29 & Swied Wi 92 s S qfe §, a8 & —
(a) ST B it =1 W& foan T 2
(b) Tk U-3THR &I 1 Tl &1 S9arT foman T 8
() T o U 1 SYANT foRan T 2
(

d) ®E I & YA H o T

S—

The error in the above experimental set-up to show that ‘CO; is given out during respiration
is”:
(a) Germinating seeds are used
(b) A U-shaped delivery tube is used
(c)  Lime water is used
(d) Cotton plug is used
34 HR Gethe % Sl foera § o 1 Ser sl T e 10 e % uvem Fg e fea T 2

T35 faerm =1 Hien 11 aREfia 81 T4 € 991 o8 i SieH W SiE 9 g T § | faere o T H gy
e T2 TIE i Sied T 98 Wd o U7 F Ieei’d hifg |

Iron filings were added to an aqueous solution of copper sulphate. After ten minutes, it was
observed that the blue colour of the solution has changed and there is a coat on the iron
filings. State the change in colour observed in the solution and also colour of the coat formed
on the iron filings.

35 Rt wiriess & wafed | (1) 1 59 Wi & ol W favarr (v) ™ Fia s w1 2
v # g9 aRuy # UHeR @i dicediex 1 fhw yehR S 3§, st s it |
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Explain how we connect an ammeter and a voltmeter in a circuit while performing
experiment for studying the dependence of current (I) on potential difference (V) across a
resistor?

36 5@ UE ST a9 Ty U St el B FE wfe (10 x ) GEARA A Saaiea R S g d@ 2
Y JeroTi =1 i TR F:NT)
Record your observations when a stained and mounted leaf peel is viewed by you under low
power (10 X ) microscope.
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